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1. ROEEHOHGHEZFRE X, 272L, EEB 2=a+bi DEE, 2 DHRE | 2| = Va2 + 12 TH 3.
(SHh30, Afks50%, Bik15740%, C#2330% )

1 142 2 7
(3) i (4 2—3i
(5) =L J;\/gl 6)  (a—0b)+2Vabi

72701, a,blXEOERL
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2. ROEEBOMNMMEERFIEE L. 272L, HE R 2=a+bi DEE, 2 DHOE | 2] = Va2 + 12 TH 5.
(SHh30, Afks50%, Bik1340%, CHh27330% )

(1) 3+1 (2) 0
(3) i 4 V6-V2i
(5) 3 - 3\/32 (6) cosf + isin 6

2L, 013FEH
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REFAN SERN EREOENE 01 RS

1. ROBEEROMINMEZFIEE L. 7220, HE K 2=a+bi DEE, 2 DHOSE | 2| = Va2 + 12 TH 5.
(SH308, Afk50®, Bi#13408, Cik2r30%)
* BRB -z DIEHE  |2]| = Vzz
z=a+bi (a,blF3FE) LT ELE, :DOHREERIEZ = a—biTH 5.
£oT, |zl =(a+bi)(a—bi)=+vaZ+ b2 LLELE2.

YARFERNL 2 ODEMTERINIHTH 270, 2D TRIBOEANMETH 2 KB Z R TE 2. Mg, zh
ZulRT BIEHICEHE R T —<Th D, T, HEEEHIIZOX—TH 5.
YHMEAHE | 2| = Va2 + b2 X, ZOEH» SEFRTHICE T 2EREOHHERT I L2300 5.

(1) 1+2 2 7
142i|=v124+22=+/5 17| =|7+0i|=vVT2+02="7
pagill)iza
7| =T T=VT2=17
(3) 4 4)  2-3i
|[4i| = |0+ 4i| = V0?2 +42 =4 12— V3i| = /22 + (—V3)2 = V7
Yol i Sl fig
|4i| = \/4i +di = \/4i + (—4i) = 4 ‘2_\/51.‘:\/(2_\/32.)_7(2_\@)
— /2~ vBi)2+ V3i)
= V2 + V3 =T
(5) —LtV3i 6)  (a—b)+2Vabi
2

72720, a,bIFIEDEE

—1+43i ‘_1 V3,
‘ 3 |72t , ; 2
5 7 5 | (a — b) + 2v/abi| = (a—b)—l—(?\/@)
1 3
:\/(_2) +<2) = VaZ —2ab+ b2 + 4ab
_ /i3 = VaZ T oab T 1
R = /(a+0b)?
=1 =la+b|
=a+b
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2. ROEEBOHOHMEZFHEE K. 2L, HER 2 =a+bi DEE, 2 DHSHE |2] = Va2 + b2 TH 5.
(SHh30, Afks50%, Bik1340%, C#2330% )

(1) 3+ (2 o
13+i|=+32+12=+10 0] =]0+0i|=v02F+02=0
Sl fig
10]=/00=v02=0
3 i 4 V6—-Vv2i
[—i| =10+ (=1)i| = 0+ (-1)* =1 V6 —V2i| = \/(V6)2 + (—V2)2 = V8 = 2V/2
Yol i eIz
=il = /(=) (=) = V(=) i =1 VB = v2i] = (V6 — v3i) - (V6 — v2i)
= (V6 — V3 (V6 + V2i)
— V6 + V2 = VB=2V2
(5) 3—3V3i (6)  cos@+isinf
2 EEL, 01395
3-3v3i|_ |3, (_3V3),
‘ 2 2 +< 2 > |cosf +isinf| = \/(0050)2+(Sin0)2
— 3)° 3 ’ =/cos2 6 + sin® 0
-+ (5 S
9 27
Vit

Y CoORNBERFHEZEZ2 5 LTy, HEANTHS.

W2 (FE)
18 LD RBEEE A A 7 — 13T E%2 VT,
e =cos@ +isinh ZE Iz,
ZITOH=m B L,
e’ =cosm +isinT
& em=-1 (X4 7-0R)
BB ERbELLORESbNT0S.
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